792 77 'O K2 PR L1702

With a mvnp and with the value of a v — wIND M2y VIS

OVERVIEW

Our mwn states that 9277 n°2 maintains that for 703 >¥17°p to be valid, a 70179
or a 7vd MW is required (while V"2 maintains that a 7’7 or 7 MY is
required). Moo will explain, first, why there is a need to mention both
70175 and 7V MW, and then explain from where we derive that 103 MW (or
017D MW) is the equivalent of 703 (a VINB) by 1PW17T°P and elsewhere.

nooIn asks:
— 1m1199 WA XIN 250 199 190 N7 1N

It is astounding! The mw» should not have mentioned 711792 but rather

only 71199 W3 and we would understand that an actual 7011 is valid (for an actual
7v1D 1s certainly VD MY) —

mMdoIN supports his contention that 7175 7w alone is sufficient:”
- 3111 VIS AYUNN (8,7 97 w3 xa2) ANTNA )INTD

As we learnt in a mwn» in 277 P09; ‘There are five nwIne’°, and the mwn

enumerates -
— NV MIYA NVTPHN AYNN NVIFN9 AIva ‘annnn

‘The admission needs to be a 7wy"p MY and a woman becomes NwTIP®

with a vImD MW, etc’. The mwn there does not mention > 70179, only AvVIND MW; why
does our 71wn mention ;10119 ?!

ND0IN answers:
- U5 NI NINT OIVN MY YN

And one can say; that since the 73w» here mentions ®nes -
= 95N 12D NVINYY INNY NIV 9397 YU NN YN

he explains which no3;” according to w"2 it is a =197, and according to
7'"'2 it is a e,

" See “Thinking it over # 1.

* Moo (perhaps) seeks to prove that the syntax of 710179 7w alone (without 7v119) is acceptable in a 7w,

? There are five cases where the minimum of a 7v119 MW is required for them to be effective.

4 %777 refers to the case of a nxpna 77; that he is liable for a 712w only if his admission is at least for a
7v11e Mw. (If the admission is for less than a 775 MW there is no 7A¥12W 21°71.)

> See noY Mn¥y who comments that the 71wn there also mentions 171 .29 wan first. w""y.

® The word 702 means money. It is necessary to define this money (a 127 or a 7019). However the 7wn in
27171 does not mention n03, therefore it is sufficient just to mention the value (that of a 7v172 MW).

7 Mmoo answer might be that when the 7awn is stating 701792 121 7373, it is not intending to teach us the
details of how to perform 70> w17 (for many details are lacking in the 7Iwn [concerning 70w ,703 and
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— 05 MY XD XPIT G0 990 NYLI ROV 9

And in order® we should not mistakenly assume that only 793 is valid for
17°RP and not 91‘]D: A (Mdoin explains why we may mistakenly assume this) -

- 905 113 39091 )9y NTUN NP AN 99921

For we derive the 70> PP by nwX through a P amp Mmw 71 from 7w

1199Y, where no> is written explicitly (we may therefore mistakenly assume that
only 703 is valid for w17°? and not 7103 MW) -
— 405 MY vI9n

The mawn therefore explains that 592 MW is equally valid.

nooIN asks:
— Pq095 909 NIVYT )9 X3 9NN ON)

And if you will say; and indeed how do we derive that ne> mw is o2 —

mooIn strengthens his question that a P102 is necessary to teach us that 7933 Ao mw:'*

— 4095 905 MY MAaY V25w ¥r9ay 1ay 223 XD 199 99 (Ex 10 9m) JIPY NPT
For later concerning 592y 72y the X713 requires the 2105 of 2°w» to include
02 MW as A8 concerning the redemption (and acquisition) of an ¥"¥. The question is
that just as by ¥"y a 7% is required to teach us that 5033 105 MW (for otherwise the 77N
states [only] 702); similarly by 1217°p 703 a 7% is required to teach us 7033 A2 MW (for
otherwise the 7710 stated [only] o).

MooIn continues and asks a similar question:

7X"1]), but rather the n1wn wants to clarify the general idea of 703, that it means either a 717 or a 71D, See
following footnote # 8.

¥ mpoIn may be addressing an anticipated question; if the purpose of mentioning (12°77) 7v112 is (merely) to
explain 70> (but not to specifically discuss the details of 703 *w17°p [see previous footnote # 7]), then why
mention (117 MWY) 7V MW at all!

? If the m1wn would have written only 7111921 7°72 one might have mistakenly assumed that the 7w» is
limiting 73 *¥17°p to money exclusively and not 703 Mw, for the reason Maon will shortly state.

' See the xm (on this Tny) following the mwn.

3,39 (77w 1) WK reads "X 7T 402 "N,

2 The mwn (even though it is not disclosing all the details [see footnotes 7&8]) must prevent us from
making an erroneous assumption.

" mooin is following up on his previous statement that there is reason to argue that concerning Pw17p, we
might assume that 192 MY is not 10232 since by 1119Y 77¥ the word 703 is mentioned.

'* One may have argued that even though by 1Moy 77w the P10 mentions 903, nevertheless logic dictates
that qo3 MW is 1o32. Therefore N12OIN rejects this argument based on "2y 72y. See >"19 for a different view.
"% See w"w1 who suggests that Moo may be referring to the X3 on (2w 7"7 aw *"w12 ") K,1.

' See “Thinking it over # 2 (and # 3) See also footnote # 38.

7 In R1,72 (7172) Xp7) the P10d reads (concerning the 11°79 of an ¥"V) InIpn Aoon NN 22w 17°97. The Xna
interprets the (extra) word 2°¥” to include that he can redeem himself with 703 mw as well as with 703 [and
by inference that he can be acquired with 703 MW as well].
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— 137 19192 XATD 9PV NIND 397 0 41 JAPY NN 905 793 23157 )30 1119
And concerning the redemption of the first born son, where the word n®>
is written, and nevertheless the X2 states later that N> 29 accepted a

shawl for 3277 39972 (in lieu of the 702 @%pw nwnn); the question is -
— 4D 403 MYT )Y N

And from where do we derive that 5922 592 T by 1277 11770 as well?

mooIn offers an answer concerning 7277 1179 that 1933 703 MW:
— 5991 9991 Y95 YWY (3,791 MIMAYT K1Y £993 17999

However in the first P22 of my1aw noon the X3 mentions a 921 ¥ 9>
concerning 1277 11°79. This explains why 7033 10> MW by 127 175,

mMooIn continues to ask by different cases:
— 905 %2 29057 P9y 533 Yax

However concerning 1°>9Y where 19> is written in the 770 and nevertheless
n03 MW 1S alccepted22 -
— 409 NIYAY G2 1193 WTPAY YNTY WITDNN 23X (13 91 paay) PNT 2903 wrDm

And also concerning wTpi where the mw» teaches us concerning one
who was w>7P» his field, that w77 can be redeemed either 922 or mMwa

702, the question is in these two case of W7pm 172V -
— 4095 905 MYT oM

From where do we derive that o> MW is 922 by wipm 1727w?!

mooIn offers an answer concerning Wpm:
— 9951 D99) Y599 11PWATT P YON ) MYTHNL 1M
However it is possible that by w7pn there is also a %931 ¥a21 %92 which

would include 702 MW.
— (N, 97 N8 N22) 2T 1I2IINTI YPIPA NT9) VTP PPN NNT

8 In 1 ., (17?) 12712 concerning a 07X 7132 the 77N writes "X D°2pW NWiAN 103 372 775N W 120 11T

' The word 19 (see previous footnote # 18) is the (first) 23 and "3 703 727W3 is the v and the word
779N is the final 993 (see >"wA there 9751 11 7790 7"7 that we can use two 19T 02107 0°%90 as a ¥ 992
5937). The 9931 v191 973 is 71271 any thing which is movable and has an intrinsic value; this includes 703 mw.
It excludes Mmypp (which are not moveable [Mypap% Wwpinw o°7231]) and MAvw (which have no intrinsic
value).

0 The 770 teaches us in m-X,12 (*nPI2) XpM that if a person states *»¥ *>7y (I am obligating to pay my
value) he must pay the amount fixed by the 7170 according to his age and gender.

2'n 3,73 (*nPIN2) X1 concerning the T of a 127 the 77N writes "3 403 HpW oW nn 737w 7.

22 See (W"wM) K, PATI0.

2z Concerning the redemption of a field which one was w>7p» the 2109 in 10,12 (>nIPI2) XIPM states 7o2.

* It seems that there is no explicit 7731 1191 995 mentioned by w7p in the X3 However Mmoo assumes
that there is a 9731 91 973 for the following reason.
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For w7pr cannot be redeemed with land, as the X7 1) states in 2737 279 -
— 59 091 900 103 VAN KIDNIT ¥PIP 233 YY Y9N WP PN 19NN 599

‘For they said, w7p7 cannot be redeemed with ypap for the 790 said nY'

Yo apy noos.
— Y0V Y UV YTPN PN PNT 1IN 33D (x,n 91 )P

And later the X7 ) also states that wTpn and 1w ="wy» cannot be

redeemed with a 9vw,? these facts that wTpn cannot be redeemed with ¥p1p and Tow
strongly indicates that there is a 9921 v91 995 which would include 70> MW and exclude
ypp and ww.?’

mooin explained from where we derive 2">w by 1277 11°79 and WIps -
— 9095 905 NIYT 103N 1299 PWITP 23y Yan

However concerning 129 1P27R from where do we derive that >'"'>w?!

N1B0IN answers:
— 593y T2y 1359951 Y Y

And one can say that we derive that >">w by 1279 PU17p from »'"'Y. Just as
by ¥"¥ the rule is that 3">w (which we derived from 2°v°), the same applies to ¥"p.

mooIn has a difficulty with the previous answer:
— 195125 25w 0 x99 2N 33 1T 233 XY YN ON)

And if you will say, but by 3771 the 57710 also wrote »hyab 25w no> -
— 9095 09 MY M99 P25 (1 4m DD NITT NP P93 1WA

And we interpret the word 2°2 in the first 9 of p''3 noon to include MW

noS as nes -
— 955 PR 29NN 1PNIN 121N 2IY $9aY TP PPITI NN 19 ON)

> There is no such 109. The general consensus is that the X3 is referring to the 2109 in ©v*,13 (*nNPI72) RPN
which reads 12 op1 1°9¥ 727¥ 03 NUWnN H0°1 R WATPAT 7w DR PR3 KR aX). Ostensibly the 0°993 would be
5831 and 1% o1 and the v would be fo>.

% This (seemingly) would mean that one cannot write a promissory note (check) to w7pn that I (the 77719)
owe you (w7pn) the value of the item to be redeemed. Alternately one cannot redeem w7p71 by offering it a
note that is owed to him by another party thus transferring the debt to w7pn. This is not a valid 75. See
X"2w1 who interprets it to mean that you cannot be w7pi1 77719 by writing on a 0w that *175 71 Wi,

7 See footnote # 19.

% In 79,80 (2*vown) Mnw the P09 reads "3 1H¥2 w° 4D DPY° 37 HYA.

* The word 270" is superfluous; the 70 could have written 1'5¥2% 102 09w M2 9v2 (without 27w).

y"y and 1’11 both have 0°»109 that teach us the same rule of 3"Jw.

! When the 770 writes a rule in one place we can apply it elsewhere (unless there are valid reasons to limit
this ruling). However when the 7710 teaches the same ruling in two (or more) places, then it cannot be
applied elsewhere. If the 7710 would have intended that this rule should apply elsewhere the 7Mn should
have written this rule once and apply it to the second instance (and elsewhere) as well. The fact that the

4

TosfosInEnglish.com



792 77 'O K2 PR L1702

And since this is so therefore ¥"'¥1 P12 are two verses 7nN> 1°827, and
they cannot teach their rule to any other cases in the 7.

MO0 answers:
— 255598 199917 Y9 YN

And one can say; that both 2’2105 are necessary by v"v and pn. Since both

°P105 are necessary; they could not be derived from each other, therefore we are able to
derive this rule in other places as well including 1273 PRY7P.

mooIn explains why 7°2°111 ¥"'v cannot be derived from each other that 2">w:
— 119090 PPO1 9917 813 XY NT99) T2y And N7
For if the 770 would have written the rule of 2">w only by 72w, we could

not have derived 7°?°12 from 72V; that also by 1°p>1 the rule is that >"5w -
— 22051 1ayh 2NN T9PNY 1NV 29
For since we find that the 77710 is particular concerning 2w’ -
— 1PP2%3 %2) WP DI TIIVNIN 291D 1Y XD XPIT DI 123 NN )PNYT XPHO)
So we would have also thought that only no> is sufficient and not
something which is (merely) the value of 702; therefore it is necessary for

the 77N to write 2%w> 79> by P11 to teach us that even by 1p°11 (which requires
2vn) nevertheless any q05 MW (of PouPwN) is sufficient.

Mmoo now explains the other side of the Xn12°7x:
— P77 9599 2819 XD NP 193 TPI0NN 93y Tay *aN
And concerning ¥"'y we also need a Pop, for we could not derive from

1°?°71 that the rule of 3"2w applies to ¥"y -
— 20 *¥’Y YPIPa 34’)‘,7’): ON)Y 1PP5157 N7 72 NN MNT

7N writes it in both instances indicates that the 770 limits this rule to these two instances only. See
following footnote # 32.

32 The rule of 1777 PR KD 18277 1203 2 applies only in a case where either of the 12113 "2 could be derived
from the other (see previous footnote # 31). However when neither can be derived from the other, then
even 'R3 X7 123 2 are PTaYn, for the logic mentioned in footnote # 31 does not apply. The reason the
710 wrote the same rule in two places is not because it wished to limit this rule to these two places
exclusively, but rather it was necessary to mention them in both places, otherwise we would not have
known this rule to be effective in both places.

* The rule by pp>11 is that if the T wishes to pay the i1 with ¥ he must pay with the highest quality
vpp that he possesses, for the 770 writes in 7,23 (2°wdwn) NAW that o%w> 173 2V WTW 2w K. This rule is
unique to 1°p°11. Therefore it could have caused us to reject 103 MW (for it is not the 2vn [of PovowA]).

** Initially the word 2°w” taught us that the ¥"y 775 can be with 703 7w. However once there is the 777 of
N3P 707 NI 220 to include 2"5w by 1179, it also applies to ¥"V 1PIp, the 1n1pn qoon. Seemingly however
Mmoo should have also said if the 72y wants to redeem himself with ¥p7p then avn will be required (for the
"1 is 72v77 YW 1y and he can certainly request 2v°», however the 1179 is 11787 7w 2"'va and nevertheless he
can insist on 2v°n).
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For if we would attempt to derive ¥"¥ from p°11, I would have said that
72» must be similar to °p°11, and if he is to be acquired with ¥pap it
should be required to be with 2¥% since we are deriving ¥"y from 7p12.

— 11199999 PPIVYN 7Y
Therefore both 2°p105 are necessary, so they are not considered 'R 78277 720> 2
and therefore we can derive from them 7279 7217 as well.

mooIn offers an alternate version of the Xn13°%:>
— NN YN Ta¥a AN ON 9995 VI 1) N

Or, one may also say; if the 7710 would write the rule of 2">¥ only by 72y,

I would have said -
— 4D NIV IPIAN LY MTAY 91927 1YY HPIY NN PT1T

That it is justified that we should be lenient by the 72y that he should be

allowed to redeem himself even with 19> /% (if he cannot raise the 703) -
— 052999 572391 122 ¥V XYY 215

In order that he should not intermingle amongst the idol worshippers the

770 therefore allows any type of 1179 even with *'2"w -
— 991 199N Y 45 93917 7Y RYT PPt ») YaN

However by 1°p°12 where this reasoning is not applicable (there is no
compelling reason that the P> should not pay only fo2), we would not say
SO that 2">w but rather he must pay only with 703.

mooIn explains the other side of this XM>7x:
— 119390 72y 999127 81 RY NT99) 17132 2N ON)

And if the 770 wrote 2">¥ only by 1°?°12 we would not be able to derive

72y from 1, that by 72y also 2"2w -
— 991295 99 £9) XID DIV 29 Ta¥2 DI 9D MY AN RYT PNYT NPT

For it would have entered our minds that by an 723y there should not be
the rule of 2"'>w because he also caused himself to be sold (and therefore we

* See ‘Thinking it over’ # 6.

3% The P19 of 1M93 1w (from where we are 2"dw 7279 by an ¥"Y) is written in the 7w"5 which discusses a
5Xw° who was sold as a slave to a >33 (see 3 nnown 7"72 oW "W 1,70 [In2] XIPM)

7 See X"w i who maintains that according to this 1"X we cannot derive 7w17p from ¥"y concerning >"2w
(for the same reason that we cannot derive Pp>11 from ¥"¥) for by ¥"v there is the X120 of ¥nw> X>w; rather
we will derive that 2"2w by Pw17p from 711, [See the 71pn cited in *"¥ 212 in the "7 MR TRA X"W7n why
we will not assume that 201 is required by 721 7°p as it is by 1°p11.] Alternately we can say that 13731 PR7TRp
are derived from a mwn 7 from ¥"1 o1 (if we will ask that by ¥"v there is the X120 of yaw® R7w we can
repond that 131 P11, and if you will say that 2v°» is required we will answer that 1°31 ¥"y). See 7"k
footnote # 363.

% See ‘Thinking it over # 3 (and footnote # 16).

6

TosfosInEnglish.com



792 77 'O K2 PR L1702

should not be lenient with him. 010 explains what is meant by 232°% 12 073 X7 03w, He

became a slave (to a >123) -
— (N9 97 391):‘,75‘1 NN 292 Y07 2299) YAV 5119992 INN NYIY DY

Because he dealt with the fruits of nsy’aw (which are forbidden for

business purposes) and as 11''93 3" will state later in the xn: -
— IV R G0 NPIT MY 1YY PNRNNT PHYT XPYD)

So therefore we would think that we should be strict with him to say

only o> and not its value, therefore it was necessary for the 70 to teach us that
also by 72¥ the rule is 2">w.

Mmoo anticipates a difficulty:
-992Y 1A PPN 909 XD 40D qUI NIYT WTPNI 13N 11PT19Y RIP TPIVNNRT XY

And the reason a PP is necessary to teach us that o2 MW is 5052 by 11972

127 and w7pn, and why do we not derive it from 'Y 9P as we derive
729 PYTR from Y'Y PRt —

mooIn responds:
VTP DTN 9122 )N PN PPRY “mavow MYPIP VYNY NaY *9Y

Because there, by w7pm 127 1779, the 209 which teaches us n©32 70> MW
(through a 9921 vI91 H22) comes to exclude nwen nypap; that we cannot

redeem a human 7122 and 2w7p»7 with them. We could not derive that from 7pn
¥"y. They can only teach us that 3"2w but not to exclude n1vwY MypPIpP.

SUMMARY

The mwn writes (71°71) 7VIN5 to explain 7o2. It adds (792) MWw so we should
not assume that only 702 is valid.

We derive 7022 1o Mw by 1271 11719 and w7pi from a 5921 v191 992,

By 1111 72y 72v from the word 2°w” that appears in both instances.

TR°T1 P72V 72V are not TIRD O°X277 0°2100 "W because there are two NN,
T PUITR can be derived from (7P 1Y) v'v. However wipm 127 10790
require the 7921 1191 995 to exclude NV MyPIR.

THINKING IT OVER

1. Does n9o1n initial question (that it should only state 115 mw)*' apply to
v"a

¥ n"am explains the order of the nrwad in JAa that they are successively worse punishments for

transgressing n°y°2w (which is mentioned in the beginning of the 7170); including selling his 1"?v%vn and
¥pPIp, etc. until one is so desperate as to sell himself as a slave to a > 1.

" This would also explain why we do not derive 2"5w by 1299 Pw1Tp from wpm 2"7179, for it would also
exclude n1owy mypap (which may be acceptable by 13791 17217p).
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R as well (that it should only state 717 MW and not 71°7), or the question
is only concerning 71", but not w"2?*

2. moon argued that a 7109 is necessary to teach us that 2">w (by 1PUI7T°R)
from the fact that a p109 is necessary by *¥"v. Why did not n9o1n (also) say
because we see that a 109 is necessary by ]’p’TJ?!44

3. How did msaoin “prove’ from ¥"v that a P109 is required by 7217°p to teach
us that 3">w? Perhaps only ¥"¥ requires a P109 that 3"2w since 12%¥¥ 073 X7
7om°% (and similarly P11 because it requires 2v°»), however by wI7°P where
this reasoning does not apply there is no need for a P19, for (ordinarily)
logic dictates that 2"aw!*

4. awR w1 7p is basically different from 7°p°11 and ¥"v (11°79). By 1Pun7p the
woman willingly accepts the fqo> (or 3"w), otherwise there is no wI7p.
However the 7% of 2"ow by ¥"¥1 PP is that even if the P11 or the MR
refuses the 3"w, he must nevertheless accept the >"w as payment. How can
we therefore prove from the fact that a P10 is necessary by Pp i1 ¥"v
concerning 2">Ww, that the same should be necessary by 7wX *v17°p (where she
is willingly accepting the 2" as Pwi7p)?!*

5. Why does n1901n (initially) maintain that we derive 2">w (by ¥"p) from
"y and not from 1P 11?"

6. Why did moon find it necessary to make two nima»g?!*
7. When we are 77277 that 2">w; does that mean that 702 MW is also valid (but

remains distinct from 902) or that 102 includes (and is not distinct from) MW
49
no3?

I See footnote # 1.

2 See 7"nR (footnote # 262-3).

3 See footnote # 16.

* See 7"nx (footnote # 281-2).

* See [1xa] X",

4 See MWK WY X"2wA and 7"X (footnote # 290 & 296).
47 See Ao MMy and 7'M (footnote # 342).

8 See (footnote # 35 and) B> MR 717 NW.

# See 107 1P MK 9.
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